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SECTION - A
QTN - D

I. Answer any five of the following. (5%x2=10)
CIRNR)TOTTR aods;‘ YVUBDA.
1) Define Corporate Communication.
ARORT TOTBIBI, 232,309, A

2) What is sign language ?
03 LA 0TTE ?

3) What is corporate philosophy ?
ADOXE %m@oé 20TTEI0 ?

4) What is lobbying ?
Y BRBIYTN 0TTEI ?
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5) What is media relations ?
SRG. =D T 0T ?

6) What is corporate identify ?

7) Define Public Relations.
ROWF TAT FOWO 33*5, 39,309, Q4.
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SECTION - B
QPN - W
Il. Answer any five of the following.
BINT 0IRFTTTR T T[,JNT LV0A.

8) Explain the process of corporate communication strategy.

—

TORT FOBZS 308,000 T,8,030080 WTOA.
R - =

9) Explain the importance of communication.
TOTTIT 552, 0, BORT WW0A.

10) What are the benefits of corporate image ?
TOORT W8T, 90 LVTOIRENNTD CIRR)W) ?

11) What are the components of corporate culture ?

mo%&ﬁ :‘Joa)éod) LIRS IR ?
7 %

12) Write a note on customer relation.
M2, 3% FOLOGT i} 8083 LT00.
13) What are the objectives of corporate communication ?
TWOYT ROTITE VT B0 IR ?
14) Explain the types of business reports.
T, BHo0FD [OQOL DFNTFI, W30A.
SECTION -C
SN - A
IIl. Answer any three of the following.
FPNT CIRNTTRTTR FWRTO @gﬁ@m SUSDA.
15) Explain various theories of communication.
TORBIT DG AT OBNTI, STOA.
16) Explain various functions of public relations.
TREFRIT BOWOHT WG TRREOFNYR D=0A.
17) Explain the aspects of crisis management plan.
DTV AWr B 03RRI LT LOINTFI W0A.
18) Explain the features and objectives of public relations.
TRWFRAT BOWOTT LT EIMTL W02 ST EBNTT), WWOA.
19) Explain steps in PR campaign planning.
PR =,1390 0dpeRsodd IeINTR), wasdA.
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(3x10=30)



